Mean Spectrum Continuum Lightcurve
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x(\t) = ( Data — Model A ) /o x Corrections
$/(411570-5148)=1.181=>1.007 4573x90
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bad:795=0.19% A (B) z = 2.71609 MJD — 2450000

u = —0.006(20) x = 1.056(73) => 1.056(73) w = 0.05(21) x = 0.985(23) => 0.985(23)

rm213 med(mad) A med(mad) A
T T T T T T T

1.5

& and x
& and x

0.5

PRI TSN i 7 e 9 o el I, P 1 1 el ey e e el gt
Tkl i ‘....,-“.u,wm‘.l,j.,,ﬂl,(',,“,Lw..,.._nf.. PRI T, L L T ooy Ty WAL I e e

PR 7500 8000
A (R) z = 2.71609 MJD — 2450000

- 1 1 l | 1
1000 1500 2000 7000



